
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Friday, 10125-Q
More on mathematical induction.

Theorem-
YnE/N :

12 + 2232
...
+ n2 = n(n +1)(2n+ 1) o

6

Proof.

Let Aln) be the above statement .

Step 1 : Is All true ?

123 /(1+1)(2%+1)
6

1 1
. v

So All is true.

Step 2 : Assume
A(k) : 12+2

2
+32 ... + k= k(k+1)(2k+1) .

6

Then
,2+ 24

...
+ (1+ 11

2

2

=>(12,
6

= k(k+1)(2k+1) + G(k+1)2
6

= (k+1)(k(2k+1) +G(k+11)
6

= (k+1)(2k2+ k+ 6k+6)
2



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Q
= ((+ 1)(k+2)(2k + 3)

6
= (k+ 1)((k+ 1) +1)(2(k+ 1)+3) .

6

So Alk+ 1) follows .

So A(k) =Y Alk+1) ·

By induction , Aln) is true HueNo I


